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101 @121t 9,732 9,732 0
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O=xsln 9,732
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-28g 8,827,500 * 10.24% 904
201 L2y 16,490 17,010 AB520
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—HEZLI=AEX
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—o& 55,760
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3 Arel 121,822 123,352 A1,530
QIEHOANE2H 121,822 123,352 21,530
01 sty 107,792 108,352 AB60
01 ALRelt] 9,610 10, 170 2560
ogersg| 9,610
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QIXEXI Dl BHA St

A2t

S HE - S(EH) - NRAY - BES sk oy S 2
0f 4 o
—=Xz2 1,000,000 1,000
OA&EHI= Xl 15,754
— AN Z oA FAl2el
100,000 * 6CH 600
—ANIOIZ A& SXZcl 187,000 = 12& 2,244
— 0l &2zl 30,000 * 5CH 150
— =% 5,500
- A 2,500,000 2,500
- SXg 2 1,500,000 1,500
Ot oA 500,000 500
0 2 ML 1,000,000 1,000
—HAMNEEES Lk 500,000 500
—2=Z3ANE 2 eldl 230,000 * 123 2,760
—H2Z JI2S "2 400,000 = 10= 4,000
OXtg & 8| 36,118
—AESE 4,500,000 = 2CH 9,000
—AEo = 5,253,000 = 2CH 10,506
—HAX 8,306,000 = 1CH 8,306
—LHIEAT 8,306,000 = 1CH 8,306
401 A EHIL 204 4,500 15,000 A 10,500
01 Al&H| 4,500 15,000 210,500
OHAIRASY AZH F&FY XS Wi
900,000 * 5= 4,500
405 AHoHESHI 9,530 0 9,530
01 ML ESHSHI 9,530 0 9,530
OAMS4 EdHlE 2 330,000  1CH 330
O34y gEZ2ME 2 2,000,000 = 1CH 2,000
OO0z &#AtE ) 72
500,000 = 10= 5,000
OHOMAEJAIL HIXEE + 2,200
—23J|7| 1,400,000 1,400
—E2HdA 500,000 500
—=ZE 100,000 * 3CH 300
S At2 316,238 316,238 0
Ql=Hol A 316,238 316,238 0
AT SME O ALY 176,238 194,238 18,000
101 Q14| 4,238 4,238 0
04 JIZtHIZ22HsEE+ 4,238 4,238 0
Otz 2e| o2l (5tH)
35,310 » 4% » 30« 4,238
401 Al&HI YR OHYI 122,000 140,000 218,000




£AM: otH
Mz ARDXSAS R
Gl FOSHMHA (&9 HM
_ _ _ HEC
SA BB E(B) - HEANY - BES 0f &t SR HDE2
01 Al&HI 120,000 140,000 A 20,000
OAAZMEHIAIH (B1H) 120,000,000 120,000
03 AlE&=20HbI 2,000 0 2,000
OLAZMEHAAIHL(BIH) 2,000,000 2,000
402 QI2tXE01 A 50,000 50,000 0
01 a2t} =28x 50,000 50,000 0
OALAZMHEHAAIH (BFH) 50,000,000 50,000
Eti+=2 34| 60,000 40,000 20,000
401 AIEHIZ 20| 60,000 40,000 20,000
01 Al&HI 60,000 40,000 20,000
OatEe| (M) ti=2 A XIS AH100m)
20,000,000 20,000
ontg22(HX =X +) 824+2 FUISAH(100m)
20,000,000 20,000
OotHZ[(HEXR) 842 HUISAH(120m)
20,000,000 20,000
Ot=2 et | 20,000 62,000 A42,000
401 AIEHIZ 21| 20,000 62,000 A42,000
01 Al&HI 20,000 60,000 240,000
OB (HARX) OtAR AMLRI|ZAF (350
m) 20,000,000 20,000
AotA 22| 60,000 20,000 40,000
401 AIEHIZL 20| 60,000 20,000 40,000
01 Al&HI 60,000 20,000 40,000
OstEre] 2elg MAaAEs ZXI2A (120m)
20,000,000 20,000
Odla2e] &= HEAEE HXZAF (100m)
20,000,000 20,000
Ol A32] OtAl= &A= HXISAF (100m)
20,000,000 20,000
HYSHHH|(otH) 78,140 82,918 N4, 778
oled2HH|(6HH) 12,720 12,720 0
ol 2HH| 12,720 12,720 0
203 L2 =&l 11,520 11,520 0
01 D229 YRF=E| 6,600 6,600 0
OJ|HA2HHUL2=XH|(5tH) 6,600,000  1H 6,600
02 FRAINNMPRF=EH| 720 720 0
OFINNMNHR2E=XIH|(5tH) 40,000 *= 18 720
04 2A2ILERFEHI 4,200 4,200 0
OBNMSIEHL2E=XH|(5tH) 350,000 * 12& 4,200




SM: ote
HE: #H2HAY|(5H)
cHel: ol 2| (5He) (e @8

M- BB Sl (B) - HIRAY - Ba S sk oy e 2
204 R AH 1,200 1,200 0
03 SRS 1,200 1,200 0
OSHALLH S (512)
100,000 = 1€ = 12& 1,200
Zl(5tH) 65,420 70,198 ANATT8
| =& Hl 65,420 70,198 ANATT8
201 et 43,258 46,870 A3,612
01 AtS22/Hl 43,258 46,870 23,612
O Zet=EZH| 14,858
—SAEX 18,000 = 8&HXt+ = 12& 1,728
—JIZANRES 90,000 » 18 1,620
—22 & HERE 150,000 * 43| 600
— =2 A ==2| 200,000 * 2CH * 23| 800
—= A EREH EHARSE
175,000 = 15CH = 2CH 5,250
—gAa 7Y & AE 125,000 * 43 500
-0 ¥ [olg HMZE 50,000 * 158 * 23] 1,500
—d -2 &= 15,000 » 2CH = 123 360
—J|Et=&H| 2,500,000 2,500
O =2g=g 23,900
— =2 50,000 = 365 18,250
— LA 50,000 = 113 5,650
= &l 4,500,000 4,500
202 O4dl 22,162 23,328 A1,166
01 =LA bl 22,162 23,328 21,166
OJI=2g! =88l
20,000 * 18 * 62 * 12& = 90/100 * 95% 22,162




